N of reco track vs dxy

[N of associated (recoToSim) tracks vs dxy

10°

10*

10°

10?

10

10°

10?

10

[ SR RER R

N of associated (recoToSim) looper tracks vs dxy

L 1 1
BOM T mkE

-DOM_pless_orig

DOM_TT_mkFi

t-DQM_pless_modi2

b

N of reco track vs dz

05=50-15-10 -5 0 5 10 15 20 2

5 05 =50-15-10 -5 0 5 10 15 20 25

[N of associated (recoToSim) tracks vs dz_]

10*

10°

10?

10

05 =50-15-10 -5 0 5 10 15 20 25

| N of associated (recoToSim) looper tracks vs dz |

¥ =20 -10 0 10 20 30



	Contents
	Page 1


